20098 &= =0l aF ekl A

SN BHDED
M MUD|BAIL &5
o

SRl AHIIEAIE XI& (9 ®=a
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
EERNEmE=mn; 12,813,929 14,415,314 A 1,601,385
s 1,368,000
= 231,781
& 1,932,675
= 9,281,473
AHIBAIE &S 3,570,700 1,638,100 1,932,600
s 500,000
= 1,100,000
= 1,970,700
AP DI BHAIE K& 2,561,750 1,638,100 923,650
= 950,000
= 1,611,750
JIg KX XA 45,750 38,100 7,650
201 YB3 20,550 12,900 7,650
01 AtS2teldl 20,550 12,900 7,650
Oget=ZH| 20,550
—SUEAIY KX EBES ME(EY) 500,000& = 8JH 4,000
— N3 & O HELXL 2AEs E28 M 2,250
o 1,000& * 2,00004 2,000
Zad3t= 50,000& * 504 250
—JlgwIsE #HIA M= 2,000& = 1,000% 2,000
—S&OIA BAHEQ EHsT 246,000 * 50E Xl 12,300




A ZMuS

T AHIIBAIE &3
s AHIIBHAIE K& (ctel &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2

202 O4dl 16,200 16,200 0

01 =2UWabl 16,200 16,200 0
OJIgRX € XNAZH gdat =8 150,000& = 69 * 128 » 1.5 16,200

203 HRFLH| 4,000 4,000 0

03 AHMFAHRFAH 4,000 4,000 0
OJILEXNRI 2EE 200,000& * 102 2,000
OXSEN &4d3t 200,000& * 102 2,000

303 Za= 5,000 5,000 0

01 Z&3 5,000 5,000 0
OFXRX HEE HMS 500,000& * 10H 5,000

AAIBHAIE &S 866,000 100,000 766,000

401 AlEHIL 204 866,000 100,000 766,000

01 Al&HI 864,000 100,000 764,000
OAIRIIY DlEtAld XI& 495,000,000 495,000
OGuEZHXNA TAAHEEZ WL 299,000,000 299,000
OEXE HUlArg 70,000,000 70,000

03 A4S0 2,000 0 2,000
OAIRIIY DIEtAlE X 1,000,000& 1,000
OQINMESHANG TAHEEZ L 1,000,000& 1,000

oGNP SEEHAG A2 FHAY 250,000 0 250,000
= 250,000

401 Al&HI LRI 250,000 0 250,000
= 250,000




SA:

Z M St

T AHIIBAIE &3
s AHIIBHAIE K& t A
CERI(BIH) - NIRAY - A S Akl e =
01 Al&HI 246,400 246,400
ogaaEdgl+w 2 MAEZ FUIAS 246,400,000& 246,400
& 246,400
03 AlE&=CHHI 3,600 3,600
OZaEdERF 2 XS ATz FUAY 3,600
& 3,600
C& HERR &N SISy 400,000 400,000
= 200,000
i 200,000
401 Al&HIZR 400,000 400,000
& 200,000
= 200,000
01 Al&Hl 397,120 397,120
OE&NEX+ 3 g - X 397,120,000& 397,120
= 198,560
o 198,560
03 AIZSCHHI 2,880 2,880
OEHNHRXIF SELE S 2,880
& 1,440
i 1,440
CHXlI H2s3CEX ALE2 HEAS 1,000,000 1,000,000
& 500,000
= 500,000




A ZMuS

M AHI|BAE &S
el MRIDIBHAIA X & (o e
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
401 Al&EHIYL 2048 1,000,000 0 1,000,000
& 500,000
= 500,000
01 A&l 993,700 0 933,700
OUX Hes3HX MUYE=Z LA 993,700,000& 993,700
& 496,850
o 496,850
03 AlZ=C0HYI 6,300 0 6,300
OUX Hes3HHX MUEZ2 WA 6,300,000& 6,300
= 3,150
o 3,150
ALY =& 1,008,950 0 1,008,950
s 500,000
& 150,000
i 358,950
SRMETSH =4 1,008,950 0 1,008,950
s 500,000
& 150,000
= 358,950
202 O4dl 8,100 0 8,100
01 =Waodl 8,100 0 8,100
OFHMALY H2F 150,000& * 3% = 12& » 1.5 8,100




A ZMuS
I AHDTBAIE &S

=

Sl AANY FA CEREE
SA-ZBH-SA(SAH) - NRAY - BE= Of] AF K gggﬁ HlwS2
203 YR=&H| 850 0 850
03 AIRFIH2FAY| 850 0 850
OFHAY HRFA 170,000 * 53| 850
401 AlEHIZ =20l 1,000,000 0 1,000,000
s 500,000
< 150,000
= 350,000
01 A&t 1,000,000 0 1,000,000
OS2 &E) & ZdAd 1,000,000, 000& 1,000,000
= 500,000
< 150,000
= 350,000
XS ot ds 2,744,960 588,750 2,156,210
= 868,000
< 471,000
= 1,405,960
s2J1g A& 241,500 63,790 177,710
= 168,000
< 21,000
= 52,500
SA0Y s4XE 31,500 63,790 A32,290
402 QIZHXHE0IH 31,500 41,790 A 10,290




2A: Z2HRESH
Hm: qoiarel AE
e SA0|Y KL (et &S
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
01 QIZEX=E=x 31,500 41,790 210,290
OdiAEEAAHOES K& 2,150,000& ~ 10JHLE M 21,500
O&AE &I 24 dAxz K& 1,000,000 = 1070 X 10,000
ANy na8x= AFAY 210,000 0 210,000
g 168,000
& 21,000
o 21,000
307 QIZ2t0| A 210,000 0 210,000
g 168,000
& 21,000
o 21,000
02 0I2tZAYE X 210,000 0 210,000
OXeENg Ns8X2 Alg 500,000& * 35¥ * 128 210,000
g 168,000
== 21,000
= 21,000
e Al & 2HE NS ALY 2,508,460 524,960 1,978,500
g 700,000
= 450,000
o 1,353,460
MehAlE 2435 2,483,000 500,000 1,983,000
g 700,000




SH: BRMDED
Hal: K|eare! X

i A= R il

SR MHHAIE 2HZOHE AL (

CHel &)
S B HRAEH) - MRAY - B 0 & o4 e B2
e AlE 435t S 450,000
= 1,333,000
401 Al HI YL S OHHI 2,483,000 500,000 1,983,000
s 700,000
= 450,000
= 1,333,000
01 Al&H| 2,483,000 500,000 1,983,000
OFGEAMNE =& &1 1,400,000, 000& 1,400,000
s 350,000
T 200,000
fia 850,000
OFGEANE oA &1 300,000, 000& 300,000
< 150,000
= 150,000
OEXAIE EHIAY 583,000,000 583,000
P 350,000
i 233,000
OO0IZAIE =XE £X 200,000,000 200,000
= 100,000
i 100,000
SCHAIZ AIEEH| 22l 20,460 24,960 24,500
201 et 10,460 14,960 24,500
01 AtS2teld] 7,360 5,760 1,600




SH: BRMDED
Hal: A

=
s TS
2

Sl THeHAIE 3OS AL S (9 ®a
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2

O et=ZH| 7,360
—dAMNAE HIetN HIAUEH+==2 120,000& * 4004 * 128 5,760
—EXAE A22tMEH 1,000,000& * 13 1,000
—=XNAE S X Fa 200,000 * 304 = 13| 600

02 SE2Z4l 3,100 9,200 26,100
O33g= & HA 100
—gXAIE 22E2S 100,000& = 13 100
OAM&E&BIS XL 3,000
—SUSAIE AIEEHISXEI (S, X, UHE, 012, G4 600,000& * 5JH 2 3,000

401 AlEHIL204bI 10,000 10,000 0

01 A&l 10,000 10,000 0
OEUSAIE Ald =&H] 2,000,000& * 542 10,000

NSAH edst 191,210 122,589 68,621
& 51,100
i 140,110

NASAH st 191,210 122,589 68,621
& 51,100
= 140,110

dAaE JMLs 2,000 2,000 0
= 1,000
= 1,000

201 B3| 2,000 2,000 0
& 1,000




FA:
X XH .
o Tt

SRk

=R EmE=n;
NAZH &4
ANESEH g4

m
0
]
o

SN EY O (BH) - MR - Ba= Aol e =2t

201 B3| = 1,000

01 AtR2teldl 2,000 2,000 0
Oui=¢ 10,000& * 2003 = 13l 2,000
o= 1,000
i 1,000

S03 e XN& 2,600 2,500 100
= 600
= 2,000

307 2I2t01 & 2,600 2,500 100
& 600
= 2,000

02 QIZtFAE X 2,600 2,500 100
OS03 Mg K& 2,600,000& * 1JHS A 2,600
& 600
i 2,000

HA2MU JPAAE WA 21,000 32,300 A 11,300
& 4,200
= 16,800

401 AlEHIL 204l 21,000 32,300 211,300
& 4,200
i 16,800

01 Al&H| 21,000 32,300 211,300




FA: ZHBSI

=

T

M NG9EM 2435
el ANSIH 243t CEREE
SH-EH . O(E) - MBAY - B 0fl AF 08 S HRS2
ONHA2AML JIAAIE WH 210,000& = 100AlCH 21,000
T 4,200
= 16,800
20D ZMESH S MIIAE NEAFS 11,000 15,000 24,000
= 3,300
o 7,700
401 AIEHIZL 204G 11,000 15,000 A4,000
== 3,300
iy 7,700
01 Al&H| 11,000 15,000 24,000
O=0)|=MELEESZI JIAE HEALS 110,000& * 10070 & 11,000
== 3,300
o 7,700
B2 FEBZAIS 84,000 21,000 63,000
== 42,000
iy 42,000
402 QI2EXE0| M 84,000 21,000 63,000
& 42,000
o 42,000
01 QI2x=2E X 84,000 21,000 63,000
OS2 FEHE S ALY K& 4,200,000 = 20AMICH 84,000
== 42,000
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SA:

Z M St

M NAZH 243t
chel: XN B Chol 7 2
SA - E S (3) - HIRA 01l &k o e =2

i 42,000
NS DN k= gakely 70,610 49,789 20,821
101 QI24H| 4,512 6,063 A 1,551
10 JIZtH22AHSE+ 4,512 6,063 A1,551

O2Jt=A 2LIH 2 30,900 » 2H = 73 4,512
201 et 8,698 12,326 A 3,628
01 AtR2teld 8,698 12,326 13,628

Ooget=8Hl 5,398

—SADLFOIEAE 23 930

- EdJtE HE 2L 50,000& * 504 250

- 2EPY 50,000& * B8 400

201t & A 2= HY| 100,000 * 2JH * 13 200

201t & A StE X 2 1,000& * 4008 * 2JH A 80

—&A53 SEEAM 2,148

ANEMF I 2 1,000& * 6104 * 45 * 23] 488

NGRS 1,660

RE 1,700& 61 * 48 » 23] 830

®ER 1,700& » 61 * 48 » 23] 830

—uUXNES 222 MA 1,200

& e 5002 = 1,0000H 500

SdIHE 50,0003 * 14044 700

-2 1,120

SIS &+ 70,000% » 8Y * 23 1,120
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FA: ZHBSI

=

T

M NAZH 243t
ool NAHH B (sl &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
ou=t| 1,500
—QADLFOEAE 28 254 2 10,000& * 1507H 1,500
O=gHtl 1,000
—SANDFOSAE 220 243 5,000& » 20% * 103 1,000
ogx=z 800
—QADFOIsAE SE2HH(24AD]) 400,000& * 10# * 2 800
202 O4Hl 16,200 16,200 0
01 SUWobl 16,200 16,200 0
OXNEBNEds gdRF 150,000& = 9% » 12E 16,200
301 LptBaz 1,200 1,200 0
10 HAIAMHIEA S 1,200 1,200 0
OXNSGZHeEds nsEAL AdS4 30,000& * 20 600
OSIHtENs 4T Adl24 30,000& * 209 600
402 QUI2HXHE0IH 40,000 14,000 26,000
01 Q2 R=8x 40,000 14,000 26,000
OtgE eI dxAMT 2,000,000& * 20AlICH 40,000
=snsE X 4,168,459 4,399,586 A231,127
=2 231,781
= 310,575
i 3,626,103
nsi#AN =g 98,956 96,061 2,895
WsiEAM HE ¥ &g 98,956 96,061 2,895
201 YB3 64,656 51,750 12,906
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M ZHSH

MM zsus XN
ool DETA = (sl &
SN HB S (BH) - MBEAY - BAS of Ao S HRS2

01 AtR2t2ldl 20,464 25,000 N4,536
OBt H| 15,464
—nNSHPAM Y NEIN EE=S HEH 2,550
HEA 500& = 1,00000 * 23] 1,000
=dIE 50,000 * 14002 700
OFLH 2+Et 50,0002 = 74 + 13 350
s 228 A 5,000& * 100 500
—ANsSAHMALSSE L FHX} [eteise fUD0XM S 100,000 * 35 » 8=t A 2,400
—nEdsE 2 20,000& = 5094 1,000
A S 7S oHLE MA 50,000& = 209K 1,000
—NSOHHAIEZE HIHNAS =3 38,7003 * 22000 A 8,514
o228 1,400
—NSOHMHARAG BN 70,000& = 10Y = 23 1,400
OInl=| 1,500
—NEXNETH= 1,500
2x 10,000& + 504 500
275 100,000 * 5% = 24 1,000
OoYdxt=s 2,100
SO A A=z 100,000& = 21CH 2,100

02 =329l 44 192 26,750 17,442
Os32= ¥ HA 31,192
—=8 =X S50l dE83MsE 1,600,000& * 128 19,200
— X EFA =SAAE MEF M 100,000& = 12& 1,200
—=SHFAEX SSIMHS WA MBIAOSE 30,000& = 12& 360
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A ZMuS
g2 Hsus X
3

ol DEA (29 ®Rl)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
—ASAHHMASE L FFXNL MYEHE B RESI|E 1,750 * 1,000 1,750
—JEHE AtNOLD SN SESII=Z 1,750 * 1,000 1,750
— DN SE]EF RESIIZ 1,750& = 1,000 * 23| 3,500
—NSXEIIBA U S A 220¥ = 1,30001 + 12& 3,432
OAlE &= XYl 13,000
— XA AAE R 1,000,000& 1,000
—olEJet S X2 =4I(S/W) 150,000, 000& * 8% 12,000
202 O4Hl 13,500 10,800 2,700
01 WA 13,500 10,800 2,700
OQusAMeEs &8 £ ISEAH =8 150,000& = 5% * 128 = 1.5 13,500
203 ¥RF&d| 1,000 1,000 0
03 AIMFAAHR =LY 1,000 1,000 0
OusZAMeEg 2tg3l 200,000& = 53| 1,000
301 LptBaz 15,800 17,800 A 2,000
07 elztol=eloi] 15,000 15,000 0
O2==BAA &S24 &2k of2H = 1,500,000& * 10¥ * 13 15,000
10 SBAAHI2AS 800 2,800 2,000
O2==3ALA 2t ST AI 24 5,000& = 50& * 28 500
OusSEANEE HFAL AHl24 5,000& = 30¥ * 23| 300
308 Z&= 4,000 4,000 0
01 Z&3 4,000 4,000 0
ONEMABEHIUEE = 223H A4 1,000
— xR 300,000& = 1JHSH 300
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FA MRS
g2 Hsus N
A

-4
v

[

10

D

o

Bl WSEAN EE
SA B SR(EH) - NRAY - B S 0f &t S Bl R E 2
- 200,000& = 2I4SH 400
—&d 100,000& * 3HSH 300
OMEMASENEHE A+ Loz 60,000,000& * 5% 3,000
oA L =2 AE XE 3,357,358 3,260,775 96,583
= 231,781
= 220,575
= 2,905,002
HAcd ISE XA I2Y 3,524 3,692 A 168
S 2,237
= 1,287
101 1A 3,524 3,692 A 168
= 2,237
= 1,287
10 JIZHZ2Z2XNSES 3,524 3,692 A168
OHILHE(sHEHA) RS TA 3,524
—Hg 30,900& 199 * 3 1,762
S 1,177
s 585
—-5¢ 30,900 *» 198 » 1& * 1.5 881
== 590
s 291
—=1 30,900% /BAI 2t *2A1 2+ 19 x4 2 1.5 881
= 470
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SN BHDS
H#: EDS X2
|

CHelr oM L FE24AY X CERE
A -H2A(EAH) - MY - BES Ofl &F 2K a%ggi; Hlns2t
z 411
242 SIHEXZ2 I 2,000,000 2,800,000 A800,000
307 BIZt0| & 2,000,000 2,800,000 A800,000
09 2#AAHExX2 2,000,000 2,800,000 800,000
O24+AHRINEEZ N 2,000,000,000 2,000,000
HIlEH sAENS X2 277,878 227,785 50,093
=2 28,803
[ 98,338
z 150,737
402 QIZHR=0I M 277,878 227,785 50,093
= 28,803
< 98,338
z 150,737
01 QIZtRp=EX 277,878 227,785 50,093
OHN-dEAEAZ X (16 ) 277,878,000 277,878
= 28,803
< 98,338
z 150,737
HALH HEXIH 405,956 159,298 246,658
2 202,978
= 202,978
402 QIRHX=0| ™ 405,956 159,298 246,658
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SN BHDS
H#: EDS X2
|

S 012 U SHERAAY NN CrRL
SH-EH . A(BH) - NRAY - BES Off &+ o4 %gi HRS
402 RIZXHE0IF = 202,978
2 202,978
01 PIARZDE 405,956 159,298 246,658
OHAH I X2 405,956,0002 * 1JH 24 405,956
= 202,978
2 202,978
SOEHA U2 2H 70,000 70,000 0
402 BIFXHZOIF 70,000 70,000 0
01 QIATZEE 70,000 70,000 0
OS0EHA Hlaoles 2H 70,000,0002 * 1JH ! 70,000
S01E TYHA 7Y 600,000 0 600,000
= 120,000
2 480,000
405 Xt&HF S| 600,000 0 600,000
= 120,000
2 480,000
01 KHAYLSEHSH] 600,000 0 600,000
Os0ZE BYHA 7Y 100,000,0002 * 6CH 600,000
= 120,000
2 480,000
DEGTAILE 5 U FY| 712,145 1,042,750 330,605
= 90,000
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2M: BH

M ()= 2
e NESHNAIEZE 5 L HY| (&9 H
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
DNENHAILS 25 L FH| 2 622,145
DMEOHH - HOAlM HX L Fy| 622, 145 592,750 29,395
101 1244 5,192 2,473 2,719
10 JIZHMIENSES 5,192 2,473 2,719
OMASHUIIA BB Y (221044 ) 30,9008 * 143 * 12 5,192
401 AlEHIZL 20 616,953 590,277 26,676
01 Al&dl 616,953 590,277 26,676
ONEMAILS &% L H| 403,625
— X TH & A4 127,900
S A 1,53020 * 30,000m 45,900
b Al 4102 * 200,000m 82,000
—EOET YA 180,3702 * 20004 4 36,074
—~DENEI| &R 126,230
SIE] 36,232,000 * 1944 36,232
- At 2 44,999,0008 * 2044 89,998
DNENES DA 30,294
4 798,5502 * 200H 15,971
3ME 623,9702 * 10H 6,240
oM 449,380 * 100H 4,494
Pas 358,88021 * 100H 3,589
—ABI|, BBE, EZI| B2(4700H) 23,429,0002 23,429
—WEASHAI B 6,971,430 * 4042 27,886
—~DEANSI| EXH DA 2,120,7602 * 1574 31,812
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P USHIAEE 2F 2 FHl

m
0
F
o

SA - HB SR (BH) - MPA Ao gggﬁ =2t

OLED 2ES &1 42,524 ,000& 42,524
OgHE: S &X 2,937,090 * 50 A 14,686
OusctdEXE AX| 213,570 * 50002 10,679
OQusSot&dEXT 2 114,990 = 100H 11,499
Og&d WsSAd ¥2x 218 4X 6,228,780& * 40 24,916
OB AOI7] 2&S £X 3,306,000& * 40424 13,224
OHASHUIIY AA(5HA) 16,000,000 16,000
Odls 28t ZAIZH0 2t £ X 15,000,000& = 2JH 2 30,000
OHASHUIIY RAE=> 300,000& = 2200HA = 30% 19,800
ogZd N2 Ee &X 30,000,000 30,000

SEFIE &X 90,000 235,000 A 145,000
= 90,000

401 AlEHIZ=0YI 90,000 235,000 A 145,000
& 90,000

01 AI&HI 90,000 235,000 145,000
OREEsS2 IS =4 40,000,000& 40,000
= 40,000
Og¢tH dUilts ssF=4E &4 50,000,000& 50,000
S 50,000

HREs(FHunsS) 2,100,000 2,860,000 A760,000

WEAHAX = (B M SH) 2,100,000 2,860,000 A760,000

WEHHR=(FMRSH) 2,100,000 2,860,000 /760,000

404 BJIgA=dES 100,000 0 100,000
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Y HHY2IAH(FHMLSH)
el D23 (G ns) el dH
=] XN xH cCtel (s =] H HA X OH @L‘jl‘:— =2}
_I_}\—I a2 . JT'(QI}I) ° k”—l—/\l'\:s ° lﬂo—n O:H/QI'—, 0:||/\|-0H S o
Oz F 50,000& * 209 * 12& 12,000
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